/\VISIONTRON

The People Guidance Pros

HPSC-12 POST STORAGE CART PARTS:

SHIPS IN 1 BOX:

(16) M10x1.5—60mm Long Bolts with Lock Nuts
(2) 177mm/13mm Dual Wrench

(1
(1
(2
(2
(
(
(
(

6mm Allen Key

Cart Base

Rigid Wheels

Swivel Wheels

24) M8x1.25—15mm Long Bolts with Lock Nuts
2) Side Frame Walls

2) Long Diagonal Bars (37")

2) Short Horizontal Bars (31")

—_ — ~— ~—

are used at the to

(1) 37" Long Diagonal
Bar per side as shown.
(They do not cross to
create an X).

HPSC-12

Assembly time is approximately
15 minutes for HPSC-12 and
30 minutes for HPSC-24 with two people.

Should you require assistance, please call
a People Guidance Pro at 631-582-8600.

HPSC-24 POST STORAGE CART PARTS:

or

o (2) Short 31" Horizontal Bars

p only

ASSEMBLY INSTRUCTIONS

Horizontal Post Storage Carts
HPSC-12 & HPSC-24

SHIPS IN 2 BOXES:

(
(
(
(
(
(
(
(
(
(
(

16) M10x1.5—60mm Long Bolts with Lock Nuts
3) 177mm/13mm Dual Wrench

2) 6mm Allen Key

1) Cart Base

2) Rigid Wheels

2) Swivel Wheels

36) M8x1.25—15mm Long Bolts with Lock Nuts
4) Side Frame Walls

4) Long Diagonal Bars (37")

2) Short Horizontal Bars (31")

2) Bungees

(2) 37" Long Diagonal
Bars per side as shown.
(They do not cross to
create an X).

HPSC-24



ASSEMBLY INSTRUCTIONS

Turn Cart Base upside-down and assemble wheels
with M10x1.5—60mm Long Bolts with Lock Nuts.
Note location of Swivel and Rigid Wheels—(1)
Swivel Wheel and (1) Rigid Wheel on each rail.

Install 37" Long Diagonal Bars connecting both
Side Frame Walls, ensuring that the flat edge nests
into the corners of the Side Frame Wall so holes
line up properly.

Load Storage Cart starting from the bottom and
alternate post direction so the bases are adjacent
to post tops (as shown).

NOTE:

Hand tighten
ALL screws
before fully

tightening
with wrench

and
allen key.

925 Waverly Ave., Holtsville, NY 11742 « man631-582-8600 « rax631-582-8980 + Visiontron.com

Turn unit over onto wheels. Align Side Frame Walls
with Post Holder Brackets on Cart Base and install
M8x1.25—15mm Long Bolts with Lock Nuts.

(If additional 31"
Short Horizontal Bars
are included, disregard)

(a) If assembling HPSC-12 cart: install 31" Short Hori-
zontal Bars to connect the top of the Side Frame Walls.

(b) If assembling HPSC-24 cart: install second set of
Side Frame Walls and 37" Long Diagonal Bars. Then
install 31" Short Horizontal Bars to connect the top
set of the Side Frame Walls.

If assembling HPSC-24 cart, use Bungees to secure
top posts by inserting bungee hook end into holes
mid-way up the cart.

U.S.MADE

[l

SINCE ‘64 v3.0-071421



